LLRF
Note that the FIFO on the PAD transfers the array to the processor within x usecs?
ICD – LLRF to global controls


Phase and amplitude at 120 Hz to archiver


Provide slow data to operators

ICD – Fast feedback


LLRF may have more time for communication if it is only used to control the 

PAC.


What is the settling time of the PAC?


Does it need BPM data or only data from PADs (local or all of them)?


If this data does not go to the Motors – you have


(time to read PADs + time to transfer data to IOC + computation + time for PAC to be set) – 8.3 msecs to communicate the data between PAD-IOC-PAC.


Tells LLRF we are in global control


Tells us new setpoints at 120 Hz


We send phase and amplitude to the fast feedback at 120 Hz

ICD – Timing


State the requirement on the timing system –


Is it that we need to have 8.3 nsec resolution for trigger offsets over 2 msec or that we need to be able to move the RF trigger between the beam present and beam not present triggers within 2.7 msecs and have 8.3 nsecs of accuracy over 100 usecs?

ICD – Vaccum


Mention in here that the vacuum interlocks the modulator. This is the only RF system so it seems that these things should be mentioned here.

ICD – High Level Applications

No SLC aware IOC needed – but correlation plots are – so these need to be provided in EPICS.

What is the cost of the PAD and the PAC? (not an SCR or PDR question)


Need some clarification of the local (non-beam) control – global feedback provides a setpoint, local feedback holds that setpoint.


Consider a small IOC for each of the PACs to limit Ethernet runs. Sector 24 – Sector 30 is a 1000 foot run.


Consider use of a commercial external switch as this will isolate the traffic. The network stack on the IOC is shared in both cases.


Will data over Ethernet be fast enough?


Will you use channel access? Raw Ethernet? UDP?


How is rebooting the PAD/PAC done?


Mention that 3u PAD chassis (40) will be done by RF group.

